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(¥7]1%5 9] dHol)=10x3.14 x 8 = 251.2(cm?)

wrabA AR EE E7H8 251.2 x 3 = 753.6( mL) YUt}
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(R O] Wol)=7x 7 x 3.14 = 153.86( cm?)

(@] Wol)= 14 x 3.14 x 11 = 483.56( cm?)

(B4¥ol) = (B9 Hol)x2+ (FH 9] Hol)
=1

53.86 X 2 + 483.56 = 791.28( cm?)
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[> ®E 1130.4cm

(27} 12 vH =97 A9)
= (AE°] 30cm 91 YF9] 121})
= 30 x 3.14 x 12 = 1130.4( cm)
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(4x4%x314%x2)+ (2%x3.14x1+8x%x3.14x1)

= 100.48 + 31.4 = 131.88( cm?)
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(F1) = (12><12><3.14><16)—(3><3><3.14><16)

= 7234.56 — 452.16

= 6782.4( cm?)
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(TXT7x314%2)+ (4%x3.14%x4+14%x3.14 x 4)
= 307.72 + 226.08 = 533.8( cm?)




